() SYNTION 76

RBZEITENRBIERSE PN/ WPN &7

&
| RE, KRS
B =
1 b 2 A 7K 3 Wikife TRk

4
5 KFH% 6 AR E A 7 KMEHIA 8 EECHNLEZ
9 HiEEEK RS 10 IR 11 ZERCAL

BERARIE

PRI L

PROE A i Nl R e L
FH

IR T EAT RN R RN ERRR IR g, L — BN T 10:1, RIIZ &L
FEMIFR A Z 90, L L BRAL B FL) 23K

PR

FERUE DB I i D L i A\ D (1 B

PN/WPN p1



@ >YNTION 76!

Bl 1

FERE AR, Pl 2% LUAT e iy N 6 303 B Wsf 1) 2 48 A /N i

B iy H 4

FEM— M E M NFE R, o] (AL Sl 2 A 5 iy 1 22 A i H A

¥ Py H %

BT 2% T 7 52 (1) e s e K B A

Ly

DL A B B g 5 1ok, B NFLHCH 3000 B/, IR S AR T B IS AT I I
B %:

HRR RN Bl AP BR” o A2 i S G A O BRI (K Bl Ja L, T e I ek
(] 22 S W T 847 58 00 AR 2 T PR K P A o DRI A g I 2 N i B R0 398 41 17 e
B, AEN T o 200800 FEARIN, A N P AN RS 7 0 AR BRA B 2 IR f i 2 22, B
NI, A “OR57 , BI—FERNT 22—,
PUHIRIEE:
I WAL B G IR S LA AR T R
yriRiLEi=fea]
AR [ 2 5 JBE e 22 7 o S i 8 B R (T Ao ol ke 45 o
2 AVFRIARE = AR RS
5 R A AR (R AL RS R “AMERSE” HRfly vk 22 B b i RSP ER ”
3 A
T T FATL 00 i A R 3T Aok T 5% (1 R L, P15 il 48 96 2 A S A 3T i 75 L D o
LR < ST 2 =Y N N e e e R . O Dk R eE < S
4 IRENETE:
PR P 55 e i A /I Dl 4 1) e K oV i N Ak

IS5

PNF—80— 40

‘ |—> WO Lk | 4040 RRBURLEA 1:40

#l EE 2 | 40, 60, 80, 120, 160

PNF  AREZHE PNE [EIfs% =%t
S WPNF EfAR L=

WRERI | \oNE BB

PNS SNIt%, KEZE, AFREZEE

PA Ay i M, R BRSS9 B 8 5 A R i A, SR s

PN/WPN P2



PN/WPN 7%

R AR EE
PNF/PNE ZJ|0% 2%
. T PNF40 PNF60 PNF80 PNF120 | PNF160
BABH BT BEE | e PNE60 PNESO PNE120 | PNE160
3 45 12 40 80 400
4 6 16 50 100 450
B 5 6 16 50 110 450
8 5 15 45 120 450
10 5 15 45 120 305
9 16.5 44 110 210 —
12 18 a4 120 260 800
15 18 40 110 230 700
16 20 44 120 260 800
WK 20 20 44 120 260 800
25 18 40 110 230 700
HEMIHAEEE | Nm 32 20 44 120 260 800
40 18 40 110 230 700
64 75 18 50 120 450
60 20 44 120 260 —
80 20 44 120 260 —
100 20 44 120 260 —
120 18 40 110 230 —
=4[ 160 20 44 120 260 —
200 18 40 110 230 —
256 20 44 120 260 —
320 18 40 110 230 —
512 75 18 50 120 —
WPRMHEESE | N-m EmHEEN 2 5
3 0.031 0.135 0.77 2.63 12.14
4 0.022 0.093 0.52 1.79 7.78
B 5 0.019 0.078 0.45 1.53 6.07
8 0.017 0.065 0.39 1.32 4.63
10 0.015 0.054 0.34 1.14 3.52
9 0.030 0.131 0.74 2.56 /
12 0.029 0.127 0.72 2.53 12.37
15 0.023 0.077 0.71 1.75 12.35
16 0.022 0.088 0.50 1.50 7.47
WK 20 0.019 0.075 0.44 1.49 6.65
25 0.019 0.075 0.44 1.30 5.81
HBINERE |Kg-cm? 32 0.017 0.064 0.39 1.30 4.5
40 0.016 0.064 0.39 1.30 45
64 0.016 0.064 0.39 1.30 45
60 0.029 0.130 0.70 2.57 —
80 0.019 0.075 0.50 1.50 —
100 | 0.019 0.075 0.44 1.49 —
120 | 0.029 0.130 0.70 2.50 —
=4[ 160 | 0.016 0.064 0.39 1.30 —
200 | 0.016 0.064 0.39 1.30 —
256 | 0.016 0.064 0.39 1.30 —
320 | 0.016 0.064 0.39 1.30 —
512 | 0.016 0.064 0.39 1.30 —
PN/WPN

P3



@ >YNTION 76!

< gns . 3 PNF40 PNF60 PNF80 PNF120 | PNF160
BASH S RH PNE40 PNE60 PNESO PNE120 | PNE160
MHARIE  [N-m/arcmin 0.7 1.8 45 12 38
Bag <10 <8 <8 <8 <8
Bl E(Z=#) arcmin MR <12 <10 <10 <10 <10
=% <15 <12 <12 <12 <12
mAEZEEA N 160 340 650 1500 4200
mAHE 7 N 160 450 900 2100 6000
FE(EH) dB(A) 55 58 60 65 70
PERNERE rpm 4500 4000 4000 4000 4000
B 96
WEHME % WK 94
=% 90
ALy 0.4 0.9 2.1 6 18
E = Kg WK 0.5 1.1 2.6 8 22
=% 0.6 1.3 3.1 9.5 /
PN/WPN

P4



IMNEZR ST (G2 mm)

PN/WPN %751

B
B2 003 L7 L L1
T L6
L3 L?
— — (4N
(e | =
=
4-9D4 e
B LS
S PNF40 PNF60 PNF80 PNF120 PNF160
ﬁ; R &
R I B R IE T ECIE IR IET
D1 i 5 E 10h7 14h7 20h7 25h7 40h7
D2 WFOHERZ 26h7 50h7 80h7 110h7 130h7
D3 | REFAFPLERIER 50 70 100 130 185
D4 REFR 3.5 5.5 6.5 8.5 11
L (fr“jf?f) 39 | 52 | 64 |46.5|59.5| 72 | 60 | 78 |95.5|73.7|101.5|129 | 104 |153.5
L1 W mERKE 26 35 40 55 87
L2 | S5 %himEfrEEEg 25 25 4 5 5
L3 g 16 25 28 40 70
L4 IFOSE 2 3 3 4 5
LS HmmEaE 2 45 4 5 5
L6 REREEE 6 8 10 15 15
B HERE 45 60 90 120 175
B1 HraEnh = 11.2 16 22.5 28 43
B2 B 3 5 6 8 12
G2 OIS EL M3*9 M5*12 M6*16 M10*22 M12*25
HEEE
L7 (FHIEZ89RE 24.3 315 435 63 25
SHRTWK)
s | RIFEYAIBAEE <8 <14 <19 <22 <35
EE| fIFENAIK
e (BEOE) 25 31 41 58 82
R\ siFmlagit DR~ >22 >38 =70 =90 =90
BK| i mmasMER T <42*42 <62*62 <92*92 <115*115 | <<150*150
PN/WPN

PS5




@ >YNTION 76!

e @13 L7 L L1
/ \ N
0 L3 E
— o — ol U
1= s ===
4-MD4
L4 LS
R~ R+ 2K PNE40 PNEG60 PNESO PNE120 PNE160
®RE 3 sy =g ag wE = 2% [we| =% 2% | W& [=%|2%] W%
D1 i H 5 1E 10h7 14h7 20h7 25h7 40h7
D2 WFOER 26h7 40h7 60h7 80h7 130h7
D3 |REFAFLERER 34 52 70 100 145
D4 REEBaFL M4*6 M5*8 M6*10 M10*16 M12*20
D5 HUKER 40 60 80 115 160
L (?fir__’%) 39 | 52 | 64 |46.5(59.5| 72 | 60 | 78 |95.5|73.7 |101.5(129|104 |153.5
L1 R E 26 35 40 55 87
L2 | BEHiREMIES 25 2.5 4 5 5
L3 g4 16 25 28 40 70
L4 IEOSE 2 3 3 4 5
L5 MbiEaE 2 45 4 5 5
B1 B 11.2 16 225 28 43
B2 B 3 5 6 8 12
B3 WMNEZRE 40 60 80 130 175
G2 O IRLFL M3*9 M5*12 M6*16 M10*22 M12*25
HEEE
L7 (5555 2 303 24.3 31.5 435 63 25
LSBT
EZ | RIFEBEM AR <8 <14 <19 <22 <35
ERE| pirElamk
2 1 41 2

s (gbnE ° 3 58 8
R~ | fF A BEOR =22 =38 =70 =90 =90
BK | BN ASIMNER ST <42*42 <62*62 <92*92 <115*115 |<150*150

PN/WPN

P6




PN/WPN %75

FARE R
WPNF/WPNE %5554 2%
R . e WPNF60 WPNF80 WPNF120
BASH L HE L WPNE60 WPNES0 WPNE120

3 12 40 80
4 16 50 100
B 5 16 50 110
8 15 45 120
10 15 45 120
9 44 110 210
12 44 120 260
15 40 110 230
16 44 120 260
WK 20 44 120 260
25 40 110 230
e e N-m 32 44 120 260
40 40 110 230
64 18 50 120
60 44 120 260
80 44 120 260
100 44 120 260
120 40 110 230
=4 160 44 120 260
200 40 110 230
256 44 120 260
320 40 110 230
512 18 50 120

BRI 5E N-m MEMBIEEN2E
3 0.246 1.189 5.75
4 0.204 0.939 3.91
B 5 0.189 0.869 3.35
8 0.176 0.809 2.89
10 0.152 0.730 254
9 0.242 1.159 5.73
12 0.238 1.139 5.60
15 0.188 1.129 553
16 0.199 0.919 3.83
WK 20 0.186 0.859 3.28
25 0.186 0.859 3.26
WMANEHEE | Kgom? 32 0.175 0.809 2.84
40 0.175 0.809 2.84
64 0.175 0.809 2.84
60 0.187 0.929 5.62
80 0.186 0.919 3.28
100 0.186 0.859 3.26
120 0.175 1.119 5.47
=4 160 0.175 0.809 2.84
200 0.175 0.809 2.84
256 0.175 0.809 2.84
320 0.175 0.809 2.84
512 0.175 0.809 2.84
PN/WPN

P7



@ >YNTION 76!

s s . e WPNF60 WPNF80 WPNF120
BASH Lt RUE b WPNE60 WPNES0 WPNE120
B 15 45 10
fARIE | N-m/arcmin R 2.5 6.5 %)
=% 25 6.3 12
B <30 <25 <15
B2 (%) arcmin WK <35 <30 <20
=4 <40 <35 <25
mAEZEEA N 340 650 1500
mAHE 7 N 450 900 2100
RE(FH) dB(A) 65 68 70
BEMANER rpm 3000 3000 3000
LR 94
BEHE % WR 92
=% 88
B 1.7 4.4 12.0
E 2 Kg WK 1.9 5.0 14.0
=% 2.1 55 16.0
PN/WPN

P8



INEERT (G2 mm)

PN/WPN %75

ik s 203 L7 L L1
L6
/\ P e ~ 1
Q Qo
o eX° s L
11 % V| e
11 N o it I=1=
3 . ‘JJ
—| L4
4-0D4 5
WPNF60 WPNF80 WPNF120
RS RT&H B (W] =% | 2% | W | =% | 2% | OE | =4
D1 T S 14h7 20h7 25h7
D2 IEOER 50h7 80h7 110h7
D3 REILHOEKRERER 70 100 130
D4 REILEFE 5.5 6.5 8.5
L HUEKE(RE%2) |465[595] 72 | 60 | 78 | 955 73.7 [1015] 129
L1 A R E 35 40 55
L2 98 5 4him E LIRS 25 4 5
L3 S 25 28 40
L4 EAEE 3 3 4
L5 WHMEEE 45 4 5
L6 RicinEEE 8 10 15
L8 BERE 93 109.5 145.5
B IR RE 60 90 120
B1 T S 16 225 28
B2 B2 5 6 8
G2 AL ERAFL M5*12 M6*16 M10*22
ELEE
o (ﬁ%u;f;im;;ﬁﬁﬁ@w) & %4 130
SR BRI GRTE <14 <19 <22
gz%ﬁfj ﬁmfgféﬁg)k 31 41 58
E:¥S SVFERALAYIE O R =38 =70 =90
St LAY IME R~ <62*62 <92*92 <115*115
PN/WPN

P9



@ >¥YNTI0N 736!

P10

4-MD4 B2 s g3 L7 L L1
A —
Il ] L3 Le
A" -\ —
t = —Ielzs
Nl
14
L5
WPNE60 WPNES0 WPNE120
RIRS R &% sy |wm| =¢ | ag | v | =% |ag| wg | =%
D1 i meE 14h7 20h7 25h7
D2 IEOER 40h7 60h7 80h7
D3 RERIPOERER 52 70 100
D4 RHRIZGF M5*8 M6*10 M10*16
D5 IR =R ES 60 80 115
L HUEKE(R&s%2) | 465 [595] 72 | 60 | 78 | 955 [73.7]101.5] 129
L1 AR E 35 40 55
L2 98 5 4him LIRS 2.5 4 5
L3 RS 25 28 40
L4 IEAEE 3 3 4
L5 e SE 4.5 4 5
L8 BEEE 93 109.5 145.5
B1 S 16 22.5 28
B2 B2 5 6 8
G2 AL ERAFL M5*12 M6*16 M10*22
L7 EZEE 75 94 130
SRR NGATE <14 <19 <22
S mz;;aﬂgq_;_m;& 31 41 58
BIRTEX
RFEHAIEORST =38 =70 =90
St LAY IME R~ <62*62 <92*92 <115*115
PN/WPN




PN/WPN & 7%

BRI
PNS RFW#ES
FARESH BAfr WIE EE PNS115 PNS142
3 150 400
4 200 560
ALy 5 210 700
8 148 450
10 125 305
12 260 910
15 210 780
-
N.
Bt m 16 260 910
20 260 910
WK 25 210 780
32 260 910
40 210 780
64 148 450
100 125 305
R BR #4556 N-m FERHIEEM 2 15
3 2.10 12.14
4 1.51 7.78
By 5 1.22 6.07
8 1.05 4.63
10 1.00 4.25
12 2.00 12.37
15 2.00 12.35
= = Ka- 2
MANEDRE g-cm 1 T8 a7
20 1.41 6.65
WK 25 1.21 5.81
32 1.46 6.36
40 1.05 5.28
64 1.05 4.50
100 1.00 4.17
. . By 20 44
| N-m /
HHAN & m /arcmin T % 25
) B <8 <8
BE(Z#H) arcmin TR <10 <10
mXEE 7 N 4300 8200
=XH#E 7 N 12000 19000
BREEH) dB(A) 65 68
BERMNEE rpm 4000 3000
. AL 98
3 0
R % TR %5
By 9.0 15.4
B K
E = g W 11.6 185
PN/WPN

P11



@ >YNTION 76!

IMEZR ST (G2 mm)

i thos L L
B2 @D L6
— - /5\ \ e
o X 0.
i L3 | L2
._1': R .
] j =y =
o~ o
\ b = g _
4-pD4 4
L B -
PNS115 PNS142
RIS Ry &H nE | &g I
D1 it 3miE 32h7 40h7
D2 flam =R S 110h7 130h7
D3 REIFOEKEER 130 165
D4 REILEZ 8.5 11
L MAEKEAEZED) 77.5 111 102 151.5
L1 i AR E 64.5 87
L2 BEinEARES 4 5
L3 RS 50 70
L4 WFASE 4
L5 mmEaE 6.5
L6 RicinmHRE 14 20
B MR 115 142
B2 HE3E 10 12
EZEE
o (%ﬂ%g%ﬁ;%myw) 51 80
RIF AR NGATE <22 <35
SRR v mAsHic 58 82
MRTEX (BULRE)
SIFBEHAIEAORT =90 =90
SIFEMAIINE R <115*115 <150*150
PN/WPN

P12




PN/WPN 7%

3. LB, (RS [ B XY 22 AL, 4. Bk il
TR S e SRS, R ESOE RIS LA (Wi O
TR, Sl O MURIROGEHZM T |, HERERTF
mpiopopse sk S pidml ]

5 H4 FEL IR L Sato0 R 2 TR A AL T BN, 1 6. RN E AR
Bt ey

7 BEIERA A SR, GARA R AHAAE. K
REIERE Y LB IR R, o
PRI FRIT D 5 R, — e e LR
SANHBL, AR, SRR AR
AP R

PN/WPN P13



@ >¥YNTI0N 736!

Z a5k 4

1B Zh e WAL IEF

¢ JVi#wis
FA8/ =48/ A8 % 7]
|ALINZIEE: 28 mm ~ 130 mm
WAEESETLE: 0.06 N'm ~ 45 N-m
IR 35 TAE W ESE

24VvDC~70VvDC

100VAC~220VAC

IRzh 3B Hrd wIATEE: 0.9A ~ 15A
Rah BhEs X B ~ 128 sy

R F IR B Iz 7

EN

F) IR 47 3t L ALBR 3 4= 4 7 X

® TALARE%
WAL E: 40mm ~ 180 mm

HERTEH:
kU E:
FFETUE:
VR

100W ~ 9000W

1000 rpm ~ 3000 rpm
0.32N-m ~ 71.6 Nm
24~80VDC. 220VAC. 80VAC

AT FRER R L

HF R GHRE A 1EH
A FEAL ATTpW St B Lds
FAT B Lo Az 4]

| % %%
| % 4%
A%

SC-GSJO1 3% £ i 4] %
HAHAE 3 37T
¢ TERBRBRRSE

RAfERERSE

@ SYNTION 761

H &
o k.
Al
CRAEFSYIR
AL
HEMRL:
£ E:
(T |

L =FAFI BT EHFEARGRAR (JREEBLD
tRHEEREER IS [ERBEAEIOR
Jb5T 2877 1558 BB B 4RE5: 100085
(010) 62932100

fHE—100; ¥ ARFZHF—810

(010) 62927938

(010) 62927946

WWW. syn-tron. com

¢ RAHALABIEL
B AN ETG B 57 mm ~ 92 mm
HEEE: 70W ~ 600W
3356 E: 1000 rpm ~ 8000 rpm
4B E: 0.095N-m ~ 1.9Nm
IRzh 2 TAE® E: 48VDC. 220VAC

2k LR A BHER G
HETEE: 200W ~ 1000W
3% 56 B 10000 rpm ~ 20000 rpm
4E5EHE: 0.13N-m ~ 1Nm

% B R SAE I B %
MD-BOX #h & & & iz 4] %5

23 IR ZANRA A X M4 2 %
K L GEERAAE H] 24

BRI ARG

® THRAREHRE.
SC A 7|3z 35 .

B Z I H A
TRIO & Fhd=H| &

EmEL: (025) 84293632/37/52/53
FNSAF): (0755) 26581960/61/62

©1607 by Hollysys Electric 07/2016

HNEMEEY, BEHE.



